Meant to Be

Album: All your Fault

Bebe Rexha & Florida Georgia Line
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Baby lay on back and re-lax Kick your pretty feet up onmy dash No need to go now-here fast  Let's en-joy right here where we at ‘Who knows where this road is supposed to lead We got nothing but time ~ As long
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as you're right here next to me everything's  gonna be alright If it's meant to be,  it'll be, it'll  be Baby, just letit be If it's meant to be,  it'll be, it'll be Baby, just let it be So, won't you ride  with me, ride with me? See where this thing goes If it's meant to
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if it's me:

Baby,

itll be
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if it's meant to  be
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Baby, if it's meant to be

it'll be
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